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Choose the correct 'Feminine' form of : . 0
‘Testator’

A) Testators B) Testatrix C) Testatrax - D) Testatorum
Choose the correct "Plural’ form of : .
‘Radius’ ' _ o R . '

A) Radiuses B) Radius ) Radii D) Radi
Choose the most suitable "Relative’ pronoun :

Tknow ........... you mean.' o o : o
A)what o B) why ' Cj that . D) which
Fill in the blanks with 'conjunction ’ . o
Tam in the right, ......... you are in the wrong.' N -
A) but B) yet C) if . Dythat .

Choose the correct 'Negative' sentence for the following sentence;

“'Brutus loved Caesar' -

A) Brutus never loved Caesar - B) Brutus was not without love for Caesar
C) Brutus was not love for Caesar D) Brutus never love Caesar

Choose the correct 'Exclamatory' sentence for the following sentence.

‘It is a horrible night’ . ' -

A) What a horrible night isit! B) How a horrible night itis! -
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. C) How a horrible night it is!

Name the part of speech of the underlined word ;

He put up a brave fight.

A)Noun B) Adjective C) Adverb
Choose the word opposite in meaning to the given word :
‘Dither’ '

A)Cry . B) Refer C) Decide
Choose the most su1tablc 'One- word' for the gwen expression :
'Dungeon entered by trapdoor

A) Cellar B) Ditch- C) Vault
Choose the appropriate alternative : '

He has fallen ......... with his partner.

A) through B) off C) over

Find out which part of the sentence has an error: .

His mouth watered/when he saw/a bouquet of grapes/No eITor. _
A B C D

A)A ~ B)B oc

Choose the correctly spelt word :

A) Dielectic B) Diallectic

) Dilectic
Choose the suitable Preposition : :
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D) What a horrible mght it 1s'

| _D) édﬁjunction

D) Defer
D_) Oubliette

Dyout

D)D

D) Dialectic

‘He shouted ........ him to came. S
A)at B) to 'Oy of . D)for - -
Choose the suitable aliemative. - o
" When the clock struck six, I ... for over an hour. _ _ '
A)have waited B) had to wait C) shall have waited D) had been waiting
Choose the correct 'Question Tag' for the following sentence : '
“Let's save some money.’ : '
A) shall they? B) shall he? . C) shan't he? D) shall we?
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Choose the most suitable alternative :

' could not open the lock because I ............ the key."

A) lost B) had lost C) have lost D) has lost

Choose the most suitable alternative in accordance with the correct use of tense.

A) 1 don't think we met before B) I don't think we have met before

C) I don't think we had met before D) I don't think we meet before

Choose the most suitable alternative :
"The son asked his father if he ..............

A) can go out B) may go out C) might go out D) will go out
Identify the underlined 'Clause' in the sentence :

'l know the man Who came here.'

A) Noun clause: B) Adjective clause

C) Adverb clause of place D) Adverb clause of purpose

Choose the appropriate alternative -

The fact ....... I told my father was incredible to him.

A) which ' B) who C) what D) whom
Choose the most suitable alternative -

Nobody could have .......... future correctly.

A) forecasted B) forcast C) forcasted D) forecast
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Choose the most suitable alternative

Many Russians name their children ............. Indians. _ S
A) after Byt C) for. Dyon .
Find out which part of the sentence has an error : :

Sudhir is a best student/in our class/at present/no error,

A B C D -~
A)A o B)B oc ) D)D--_"_' _
Choose the 'Grammatically' correct sentence. B : :
A) The team is confident to win he match.  B) The team is confident of winning the match.
C)The team is confident of win the match. D) The team is confident for wmnmg the match.
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